Yrs. 3&4 — Maths Homework — Week 2 (Due Tuesday, 16" Nov)

Please copy these questions and then answer them into your homework books,

also remember to show all your working out, if the question requires calculating.

1. Use the inverse operation to complete the calculations below.

A. + 51 = 69

B. 31 + = 93

C. - 72 = 24

D. - 22 = 36

2. Complete the bar model below.
748
571
Write a calculation to check your answer.
3. Match the calculation to its inverse.
A. 2,700 + 4,280 = 6,980 D. 9,690 = 5,220 + 4,470
\ 3 \ J
B. 9,690 - 5220 = 4,470 E. 6,980 - 2,700 = 4,280
c. 3,527 = 1818 + 1,709 F. 3,527 - 1,818 = 1,709
4. True or false? Delacey can use calculation B to check the answer to 2,250 + 2,320 =
4,570.
A. B. C.
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